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( ) 1s the interactional support that one
interactant gives another in a joint construction of

meaning, during which one ‘expert’ participant
enables the other to perform a task or produce
language that would be too difficult to manage
unassisted. In the case of language learning, this
‘expert’ could be an adult or a more capable peer
whose linguistic proficiency is greater than the

learner’s.

8. Read the following paragraph and fill in the blanks
with ONE word. [1A]

Learning occurs in interaction with other people
especially with the help of a more capable other, often
a teacher provides (1),

or assistance given to the learner, which is gradually
pulled away when the learner no longer needs it.

In these approaches teachers can help students
develop (2)

strategies as higher thinking skills. These strategies
usually involve hypothesis testing such as searching for
clues in surrounding material and one’s own
background knowledge, hypothesizing the meaning of
the unknown item, determining if this meaning makes
sense and, if not, repeating at least part of the
process.
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(1) scaffolding

(2) cognitive
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S2: Okay, wait. (2¥& 2%t})

S1: (FFA] &) He eat two hamburgers.

T : He ate.

S1: Ah, he ate, he ate two hamburgers.
(T moves to another pair.)

S3: (I¥-& Y1) He went park in morning.

S4: Ah, park, okay. (I1¥-& It}

T : © Saw many books.

S4: (S3& H0) Oh, okay. Wait. (ZH& 19
(T moves to the next pair, S5-S6.)

S5: Jeff buyed many apples.

T : Jeff buyed?

S50 (RHAlO] Wt 2R ThA] YIete]) S

S1: (t4& AFXlS 20)) He bought two apple.
T : (S19] _FE 40 A g1 &53 AHARH)

T:(S39) @R 243l 24 % aks A% Soh)
S3: He visited a library and see many books.

S3: He visited a library and saw many books.

T : Bought many apples. (S5 ¥ 1) Bought.

o)

B-O-U-G-H-T.
S5: Ah, yes, he bought many apples. (A]
S6: (iLALet S5OJ Wats xo} Al £ Yt &
Arg2) Fo, buyd A7} buyed”t otyal
boughto]tt}.  12]H, ‘He bought many
apples.’2til sh= 7l 9.
T : (S69] =ArEZ =1) S6, very good! i
S5: S6, Jeff bought many apples.
S6: Okay. (¥ 1dcth)
(T moves to the next pair.)
S7: Jeff eated many apple.
T : Jeff ate.
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Overgeneralization A-5 Overgeneralization
4. Read the interaction between a teacher and a student,
S1: He played a piano. and follow the directions. [13]
T: S19] 922 AXG) RX] oky FES x|HE
O AA £E A A BT (The teacher asks her student, Dongbo, what he did
S2: Ah, piano, okay. (Z3-& 1dt})

over the weekend.)

T : Hi, Dongho, how was your weekend?

S @ Hello, uh, have, had fun.

T @ You had fun, oh, good, Did you go anywhere?

S : Yeah, uh, I go, go, went to uncle, uncle’s home.

T : What did you do there? Did you do something
interesting?

S : I play, played with childs Uncle have childs, three

childs.
T : Your uncle has three children?
S : Yeah, uh, one boy and two girls. So three childs.
T: Do you like them?
S: Yeah. They're fun. They're good to me.
T: teacher, S: student

Complete the comments on the interaction by filling in the
blank with ONE WORD

Language errors may occur as a result of
discrepancies between the learners interlanguage and
the target language. One main source of such errors is

called ( ), one example of which is seen

in the student’s use of childs in the given interaction.
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